BARO MIN Active FPL DTK / DIST

0
M

© 3W5 R
2465
KBVS 20.6%

N
&0\

TMR 11:47 OAT 56°F LCL 7:42:05am Messages

6.2

Garmin G3X

Instructions



Parts List:

Electronic Parts:

* (2) Dual shaft encoders Part # EC11EBB24C03

+ (4) white LED tactile switches 6x6x7

+ 2.54mm header pins both male and female (various lengths)

* Resistors: (4) 300o0hm (2) 10K ohm

(1) 100uf Capacitor part number C713345 on LCSC.com

* (1) Adruino Pro Micro (5v) (for the Mobiflight Control Board)

(1) MOSFET Part # RFP30NOGLE (used for Mobiflight controlled backlighting)
+ 10.1 inch 1280x800 capacitive touch LCD

If using the full desktop case, you’ll need some panel mount extension cables
for the HDMI and 2 USB connections. Here are links to the ones we use.

HDMI Cable
USB Cable
USB C Cable

Hardware Parts:

* (5) M2 x 14mm screws

* (3) M2 x 8mm screws

* (13) M2 x 17mm screws

* (10) M2 x 5mm screws

* (4) M3 x 15mm Hex Head bolt (longer if Panel mounting)

Important Notes:

The part numbers listed are the parts that these PCB’s as well as the 3D print files are designed to use.
Please use caution when using other components as they may not fit properly.


https://www.ebay.com/itm/166059188508?mkcid=16&mkevt=1&mkrid=711-127632-2357-0&ssspo=a1lxxwptraw&sssrc=4429486&ssuid=nEpvQZC4QDm&var=465565829452&widget_ver=artemis&media=COPY
https://www.amazon.com/Envistia-Mall-ATmega32U4-Leonardo-ATmega328/dp/B07P9SXF7X
https://www.ebay.com/itm/385638778814?mkcid=16&mkevt=1&mkrid=711-127632-2357-0&ssspo=mikkgacrtkq&sssrc=4429486&ssuid=&var=&widget_ver=artemis&media=COPY
https://www.amazon.com/Qaoquda-Extension-Support-Resolution-Xbox360/dp/B07WJGPQSW?th=1
https://www.amazon.com/CGTime-Install-Extension-Charging-Transferring/dp/B07BK4WZV9/ref=asc_df_B07BK4WZV9/?tag=hyprod-20&linkCode=df0&hvadid=693712892341&hvpos=&hvnetw=g&hvrand=1503081684329795630&hvpone=&hvptwo=&hvqmt=&hvdev=m&hvdvcmdl=&hvlocint=&hvlocphy=21166&hvtargid=pla-941708514404&psc=1&mcid=815e8d9b48fa34f0be0f90bd99f93126
https://www.amazon.com/Poyiccot-Extension-Female-Extender-Straight/dp/B086YBP5VW/ref=asc_df_B086YBP5VW/?tag=hyprod-20&linkCode=df0&hvadid=693369603351&hvpos=&hvnetw=g&hvrand=4727801919845367628&hvpone=&hvptwo=&hvqmt=&hvdev=m&hvdvcmdl=&hvlocint=&hvlocphy=1013678&hvtargid=pla-1572391435398&psc=1&mcid=3ed5c515e37f3278a02ef974e9bc0a01

Arduino Card
Use the Pro Micro (5v)
card.

o o o o

BL_MOSFET

o

o]
00 ° o o] u:izan]
° o O °-e o) O 70 e/ mater
o] (e]e] O0gpoO 0 g0 OCEmEIO

o FUGHTSIMDIY 63Xv1.0

Backlight Power Backlight dimming is
comes from the controlled via
Arduino Mobiflight.

000000000000
-

108

-
RIGHT _ENCODER

000000000000

Resistor Values

Please note that these values are based on using a 5v
power from the Arduino card.

These are the Minimum recommended resistor ratings.

R1 - R4 = 300 ohm




Assembly Instructions

Begin by placing the LCD into the rear of the faceplate.




Assemble and solder all of the components onto the PCB.
Also install the Arduino Pro Micro onto the board.

Place the buttons onto the key switches. The buttons will
sit loosely on top of the switches but will stay in place
once the faceplate is set in place.

L




Place the PCB assembly onto the Faceplate using the
Botton LCD bracket. You’ll need (5) M2 x 14mm screws

Attach the top LCB bracket with (3) M2 x 8mm screws.




Now we can install the knobs and glue the dummy SD
card in place.

Now, attach the rear case frame using (4) M3 x 15mm Hex
head bolts. If you are installing the unit into an instrument
panel then increase the length of the bolts to
accommodate the thickness of your panel. You also don’t
need to install the rest of the rear case if you don’t want.




Note: If you are using the rear case, you’ll need to purchase panel mount
extension cables for the 2 USB and 1 HDMI connections. These will be

mounted to the rear 10 backplate.

Install the rear cover using (13) M2 x 177mm screws.

Install the rear 10 backplate with your panel mounted
HDMI and USB connections in place. | have included a
blank 10 plate in .step format so that you can create your
own cutouts for your cables.

You will need (10) M2 x 5mm screws.




You can attach rubber pads to the provided cutouts on the
bottom of the G3X. These will help it to stay put on your
desk. Optionally, | have included a mounting plate that can
be attached to a Honeycomb Yoke or just screwed to a
flat surface. The mounting plate is designed to slide into
the the groves between the legs under the rear case.

N

Your G3X is now complete. You’ll just need to connect it to
your PC and install the Mobiflight Configuration files.
Then you can configure the instrument pop out gauge
using MSFS pop out manager.




MSFS Pop Out Manager Tips

You will need to use MSFS Pop Out Manager to properly display and use the in
game instrument on your G3X unit. This is not a detailed tutorial on how to use
Pop Out Manger. The software and information can be found Here.

Below you will find a screenshot of the settings window for the G3X in Pop Out
Manager.

Settings:

+ Height and width set to 1280 x 850
+ Always on Top = ON

+ Full Screen Mode = OFF (full screen mode seems to mess up the touchscreen)
+ Hide Title Bar = ON
+ Automatic Game Refocus = ON

You’ll need to manually move and position the pop out gauge onto the G3X
display.

MSFS POP OUT PANEL MANAGER

XCUB G3x »

Active Aircraft: ASOBO XCUB ¥

Pop Out Panels O

Height

Panel Name Top Left Width 1
= 63X 23 ! 1920 T 1280 I 850 I

Always on Top . Full Screen Mode Hide Title Bar Automatic Game Refocus

Left Width Height &
524 T ms3 T 498 1 343 1 @

Start Pop Out



https://flightsim.to/file/35759/msfs-pop-out-panel-manager

	PCB Information

